TD : Real space renermalization Group
F) Percentation transition
(A) 10 chain - Great solution
Ns = # of clusters of supe 1
$$\implies$$
 Ms = Ns/N
Ps = probability that a node inlongs to a cluster
of supe 5
 $d = supe 5$ $d = 5^{\circ} (4p)^{2}$
 $exclupte : S = 3 \longrightarrow 3 configurations \implies 1
 $belongs to a cluster of sup 3 is $3p^{2}(1-p)^{2}$
 $d = supe 5$
 $d = set f^{2}$ $d = set 1p^{2-1}$ $set 1p^{2}$
 $d = supe 5$ $d = set 1p^{2-1}$ $set 1p^{2}$
 $d = supe 5$ $d = set 1p^{2-1}$ $set 1p^{2}$
 $d = supe 5$ $d = set 1p^{2-1}$ $set 1p^{2}$
 $d = set 1p^{2}$ $d = set 1p^{2-1}$ $set 1p^{2}$
 $d = set 1p^{2}$ $d = set 1p^{2}$ $set 1p^{2}$
 $d = set 1p^{2}$ $d = set 1p^{2}$ $set 1p^{2}$
 $d = set 1p^{2}$ $d = set 1p^{2}$ $set 1p^{2}$
 $d = set 1p^{2}$ $d = set 1p^{2}$ $set 1p^{2}$
 $set 1p^{2}$ $d = set 1p^{2}$ $set 1p^{2}$ $set 1p^{2}$
 $set 1p^{2}$ $d = set 1p^{2}$ $set 1p^{2}$ $set 1p^{2}$ $set 1p^{2}$ $set 1p^{2}$
 $set 1p^{2}$ $set 1$$$



4.
$$\xi \simeq A (R - P)^{-\nu} \qquad P \ \text{close to the Critical purcelation trashold } Pr \\ \overline{z}' \simeq A (R - P')^{-\nu} = A'(R - P)^{-\nu} \qquad P^{-} = P_{c} - \varepsilon \\ b (R - P')^{-\nu} = (R - P)^{-\nu} \qquad P' = P'(P) = P'(R - \varepsilon) \\ b (P - P'_{c} + \varepsilon dP'_{c}) = (P - P)^{-\nu} = \varepsilon^{-\nu} \\ b (P - P'_{c} + \varepsilon dP'_{c}) = (P - P)^{-\nu} = \varepsilon^{-\nu} \\ b (E dP'_{R})^{-\nu} = \varepsilon^{-\nu} \\ \beta (E dP'_{R}) = 0 \qquad \Rightarrow \qquad v^{n} = \ln \frac{dP'_{R}}{dP} \\ \beta ub - v \ln \frac{dP'_{R}}{dP} = 0 \qquad \Rightarrow \qquad v^{n} = \ln \frac{dP'_{R}}{dP} \\ \beta \cdot v^{n} = \ln \frac{dP'_{R}}{dP} \\ \beta \cdot v^{n} = \frac{1}{2} \int_{1}^{1} \frac{P - v^{n}}{dP} \\ F' = P^{b} \\ 3. \qquad 2 \int_{1}^{1} \frac{P - v^{n}}{dP} \\ F' = P^{b} \\ \beta \cdot v^{n} = \ln \frac{dP'_{R}}{dP} \\ \beta \cdot v^{n} = \ln \frac{dP'_{R}}{dP} \\ \beta \cdot v^{n} = \ln \frac{dP'_{R}}{dP} \\ F' = P^{b} \\ \beta \cdot v^{n} = \ln \frac{dP'_{R}}{dP} \\ \beta \cdot v^{n}$$

$$p=1$$
 $\frac{dp'}{dp} = b$ $y'' = 1$

(C) 20 triangular lattice : RG approach
1.
$$P' = P^3 + P' = P^2(P)$$

$$P' = P^{3} + 3P^{2}(1-P)$$

$$P' = P^{2}(P + 3 - 3P) = P^{2}(3-2P)$$









 $\frac{dp'}{dp} = \frac{d}{dp} \left(3p^2 - 2p^3 \right) = 6p - 6p^2 = 6p(1-p)$

$$\frac{dp'}{dp}\Big|_{p=0} = 0 \qquad \frac{dp'}{dp}\Big|_{p=1} = 0$$

$$\frac{dp'}{dp}\Big|_{p=1/2} = \frac{6}{4} = \frac{3}{2}$$

$$v^{-'} = \frac{\ln \frac{dp'}{dp}\Big|_{p=1/2}}{\ln b} = \frac{\ln \frac{3/2}}{\ln \sqrt{3}} = \frac{\ln 3 - \ln^2}{(1/2)^{\ln 3}} \approx 0,738$$

$$v \approx 1,855 \qquad v_{exact}^{2d} = \frac{4}{3} \approx 1,333 - 1$$



$$S_d = -1 \longrightarrow h configurations Salar Salar$$

$$C(\hat{s}) = \hat{h}^{\hat{N}} = \hat{h}^{\hat{N}/3}$$





$$\sum_{\{\hat{s}=\pm 1\}} \sum_{\substack{s \in C(\hat{s}) \\ s \in C(\hat{s})}} \xrightarrow{\sum_{\{\hat{s}=\pm 1\}}}$$

Hence 2=Z

$$Prob\left[\frac{3}{2}\right] = \frac{e^{-\beta\hat{H}\left[\frac{3}{2}\right]}}{\hat{Z}} = \frac{1}{2} \sum_{s \in C\left(\frac{3}{2}\right)} e^{-\beta H\left[\frac{s}{2}\right]}$$

$$Prob\left[\frac{3}{2}\right] = \sum_{\underline{S} \in C(\underline{3})} Prob\left[\underline{3}\right]$$

Prob of $\frac{2}{5}$ in the decimated system is the sum of the probabilities of the configurations of the original spins that are decimated into $\frac{2}{5}$ (i.e. $C(\frac{5}{5})$)

3. Approximate Hamiltonian to compute averages $\langle -\cdots \rangle_{0,\frac{3}{2}} = \frac{1}{Z_0[\frac{2}{5}]} \sum_{\substack{g \in C(\frac{3}{5})}} \cdots e^{-\beta H_0[\frac{s}{5}]}$ $Z_0[\frac{2}{5}] = \sum_{\substack{g \in C(\frac{3}{5})}} e^{-\beta H_0[\frac{s}{5}]}$



$$\langle e^{-\beta(H[\underline{s}] - H_{o}[\underline{s}])} \rangle_{0,\underline{s}} = \frac{1}{Z_{o}[\underline{s}]} \sum_{\underline{s} \in C[\underline{s}]} e^{-\beta(H[\underline{s}] - H_{o}[\underline{s}])} e^{-\beta H_{o}[\underline{s}]}$$

$$e^{-\beta\hat{H}[\hat{S}]} = Z_{o}[\hat{S}] \langle e^{-\beta(H[\hat{S}] - H_{o}[\hat{S}])} \rangle$$

Jansen inequality: for any convex function f $\chi f(x) > f(x) = \chi random$



 $\left\langle e^{-\beta(H[\underline{s}]-H_{o}[\underline{s}])} \right\rangle_{0,\underline{s}} \leq e^{-\beta(\langle H[\underline{s}]-H_{o}[\underline{s}]\rangle_{0,\underline{s}})}$

Taking the log of the expression above:

$$H[\hat{S}] \leq -1 \ la \ \tilde{L}_{o}[\hat{S}] + \langle H[\underline{S}] - H_{o}L\underline{S}] \rangle_{o,\hat{S}}$$

4.
$$H_{o}(S] = -J \sum_{a=1}^{R} \sum_{A_{15}>eA} S_{1(A)} S_{5(A)}$$

A independent triangular ploquettes

$$\int_{a=1}^{S_{1}(A)} \odot Z_{0}(S) = \frac{1}{R} \sum_{a=1}^{N} e^{FJ(S_{1A}S_{2A} + S_{2A}S_{2A} + S_{2A}S_{4A})}$$

$$S_{1(A)} S_{2(A)} \odot Z_{0}(S) = \frac{1}{R} \sum_{a=1}^{N} (S_{1a}S_{2a} + S_{2a}S_{2a} + S_{2a}S_{4A})$$

$$S_{1(A)} S_{2(A)} \odot Z_{0}(S) = \frac{1}{R} \sum_{a=1}^{N} (S_{1a}S_{2a} + S_{2a}S_{2a}) \sum_{sign(S_{1a}, 1 + S_{2a})} S_{ign(S_{1a}, 1 + S_{2a})} S_{ign$$

$$-i\int_{a}^{b} S_{d} = \pm 1$$

$$\uparrow \uparrow \uparrow \uparrow$$

$$\uparrow \uparrow \uparrow \uparrow$$

$$f \uparrow \downarrow \uparrow \downarrow \uparrow$$

$$2e^{-\beta J}$$

$$J \uparrow \uparrow$$

$$-e^{-\beta J}$$

$$\langle S_{1d} \rangle = e^{3\beta J} + e^{-\beta J}$$

$$-if \hat{S}_{a} = -1 \qquad \text{III} \qquad -e^{3\beta J}$$

$$-if \hat{S}_{a} = -1 \qquad \text{III} \qquad -2e^{-\beta J}$$

$$f \text{II} \qquad +e^{-\beta J}$$

$$\langle S_{1A} \rangle = - \frac{e^{3\beta J} + e^{-\beta J}}{e^{3\beta J} + 3e^{-\beta J}}$$

$$\langle S_i \rangle = \frac{e^{3\beta J} + e^{-\beta J}}{e^{3\beta J} + 3e^{-\beta J}} \hat{S}_{ali}$$

Different blocks are uncorrelated using the Boltzmann measure associated with Ho

Hence
$$\langle Si(A) S_{J(B)} \rangle_{0,\tilde{S}} = \langle Si(A) \rangle_{0,\tilde{S}} \langle S_{J(B)} \rangle_{0,\tilde{S}}$$

 $(d \neq \beta) = \left(\frac{e^{3\beta 5} + e^{-\beta 5}}{e^{3\beta 5} + 3e^{-\beta 5}}\right)^2 \hat{S}_{d(\tilde{I})} \hat{S}_{\beta(T)}$

5.
$$\langle H[\underline{S}] - H_{o}[\underline{S}] \rangle_{o_{1}\hat{S}} = \langle -J \sum_{\langle i_{1}J \rangle} S_{i}S_{J} - J \sum_{\langle i_{1}J \rangle \in a} S_{i}S_{J} \rangle_{o_{1}\hat{S}}$$

$$= \langle -J \sum_{\langle i_{i}J \rangle} S_{i}S_{J} \rangle_{o_{1}\hat{S}}$$



For each pair of neighboring plaquettes in the decimated lattices there are two edges between the spins of the original lattice

$$\langle H[\underline{s}] - H[\underline{s}] \rangle_{0,\hat{s}} = -2J \sum_{\{d_1\beta\}} \left(\frac{e^{3\beta_{7}} + e^{-\beta_{7}}}{e^{3\beta_{7}} + 3e^{-\beta_{7}}} \right)^{2} \hat{S}_{a} \hat{S}_{\beta}$$

$$\hat{H}(\hat{S}) \leq -\underline{I} \hat{H} \ln \left(e^{3\beta J} + 3e^{-\beta J} \right) - \underline{J} \sum_{\langle A\beta \rangle} \hat{S}_{A} \hat{S}_{\beta}$$

$$J' = 5 \left(\frac{6_{3}b_{2} + 6_{-}b_{2}}{6_{3}b_{2} + 6_{-}b_{2}} \right)_{5} J$$

6.
$$J = J' = 0$$
 is a fixed point
(stable fixed point associated to $T = \infty$
paramagnetic phase)
 $J = 2 J \left(\frac{e^{3\beta J} + e^{-\beta J}}{e^{3\beta J} + 3e^{\beta J}}\right)^2$ $e^{\beta J} = x > 0$
 $2 \left(\frac{x^3 + 1/x}{x^3 + 3/x}\right)^2 = 1$
 $\frac{x^4 + 1}{x^4 + 3} = \frac{1}{\sqrt{2}} \implies x^4 \left(1 - \frac{\sqrt{2}}{2}\right) = \frac{3\sqrt{2}}{2} - 1$
 $x^4 = \frac{3\sqrt{2} - 2}{2 - \sqrt{2}} = \frac{(3\sqrt{2} - 2)(2\sqrt{2})}{4 - 2} = \frac{6\sqrt{2} + 6 - 4 - 2\sqrt{2}}{2}$
 $x^4 = \frac{4\sqrt{2} + 2}{2} = 2\sqrt{2} + 1$
 $\left(\frac{\beta J}{x}\right)_x = \frac{1}{4} \ln (2\sqrt{2} + 1)$

Stability: Introduce $K = \frac{37}{8}$ $K = 2K \left(\frac{e^{3K} + e^{-K}}{e^{3K} + 3e^{-K}}\right)^2$

$$\frac{dk'}{dk} = 2\left(\frac{e^{3k} + e^{-k}}{e^{3k} + 3e^{-k}}\right)^{2} + 4k\left(\frac{e^{3k} + e^{-k}}{e^{3k} + 3e^{-k}}\right)\left(\frac{3e^{3k} - e^{-k}}{e^{3k} + 3e^{-k}}\right) - \frac{(e^{3k} + e^{-k})(3e^{3k} - 3e^{-k})}{(e^{3k} + 3e^{-k})^{2}}$$

At
$$k = k_{*}$$
 $\left(\frac{e^{3k_{*}} + e^{-k_{*}}}{e^{3k_{*}} + 3e^{-k_{*}}}\right)^{2} = \frac{1}{2}$





 $X_{x}^{h} = 2\sqrt{2} + 1$

$$\frac{dK'}{dK'} = 1 + \frac{4K_{\star}}{\sqrt{2}} + \frac{16\sqrt{2} + 8}{(2\sqrt{2} + 1 + 3)^2} = 1 + \frac{4K_{\star}}{\sqrt{2}} + \frac{16\sqrt{2} + 8}{(2\sqrt{2} + 4)^2}$$

$$\frac{dK'}{dK'} = \frac{1 + 4K_{*}}{\sqrt{2}} \frac{8}{4} \frac{2\sqrt{2} + 1}{(\sqrt{2} + 2)^{2}} = \frac{1 + 8K_{*}}{\sqrt{2}} \frac{2\sqrt{2} + 1}{6 + 4\sqrt{2}}$$

$$\frac{dK'}{dK} = 1 + \frac{4K_{\star}}{\sqrt{2}} \frac{2\sqrt{2}+1}{3+2\sqrt{2}} = 1 + 4K_{\star} \frac{2\sqrt{2}+1}{3\sqrt{2}+4}$$

 $\frac{dK'}{dK} = 1 + \ln(1 + 2\sqrt{2}) \frac{2\sqrt{2} + 1}{3\sqrt{2} + 4} = 1 + \frac{8 - 5\sqrt{2}}{2} \ln(1 + 2\sqrt{2})$

$$\frac{2\sqrt{2}+1}{3\sqrt{2}+4} = \frac{12-8\sqrt{2}+3\sqrt{2}-4}{18-16} = \frac{8-5\sqrt{2}}{2}$$

$$7. V = \frac{\ln b}{\ln \frac{dk'}{k_{*}}} = \frac{\ln \sqrt{3}}{\ln \left(1 + \frac{8 - 5\sqrt{2}}{2} \ln \left(1 + 2\sqrt{2}\right)\right)} \sim 1,13353...$$

not too far from the exact value N=1

The critical temperature is
$$T_c = \frac{4}{5} \sim 2,97962...$$

 $T = \ln(1+2\sqrt{2})$

The exact one is
$$T_c^{(exact)} = 3,642...$$

$$I = -J \underset{ciss}{\Sigma} Sis_{\sigma} \qquad k = \beta J \qquad t = th(k) \qquad low temp.$$

$$(A) Decimation in 1d$$

$$(A + BSiS_{\sigma} = {A + B + T + \sigma J}$$

$$(A + B + B + T + \sigma J + \sigma$$

2.
$$1 - 1 - 1 = 1$$

 $s_{n} - s_{2} - s_{3}$

$$\sum_{S_{2}=\pm 1} e^{\beta J (S_{n}S_{2} + S_{2}S_{3})} = \sum_{S_{2}=\pm 1} c_{n}^{2} (K) (A + tS_{n}S_{2}) (A + tS_{2}S_{3})$$

$$= ch^{2} (K) \sum_{S_{2}=\pm 1} (A + tS_{n}S_{2} + tS_{2}S_{3} + t^{2}S_{n}S_{3})$$

$$= 2 ch^{2} (K) (A + t^{2}S_{n}S_{3})$$

3.
$$Z = \sum_{\{J \in i\}} e^{K} \sum_{i} S_{i}S_{i+1}$$

$$= t t t t - - T t t - - T T T$$

$$= t t t t - - T t t - - T T T$$

$$= t t t t - - T t t - - T T T$$

$$= t t S_{n}S_{n} - S_{n} - S_{n}$$

$$= 2 ch^{b}(K) \sum_{\substack{|S_{1}=t^{1}|\\ \vdots\\ S_{b-1}=t^{1} \end{pmatrix}} (A + t^{1}S_{0}S_{2})(A + tS_{2}S_{2}) \times ... \times (A + tS_{b-1}S_{b})$$

$$= ... = 2^{b^{-1}} ch^{b}(K) (A + t^{b}S_{0}S_{b}) = C e^{\beta \widetilde{J}S_{0}S_{b}}$$

$$= C ch (\widetilde{K}) + c sh(\widetilde{K})S_{0}S_{b}$$

$$= C ch (\widetilde{K}) + c sh(\widetilde{K})S_{0}S_{b}$$

$$= 2^{b^{-1}} ch^{b}(K)$$

$$= 2^{b^{-1}} ch^{b}(K) = 2^{b^{-1}} sh^{b}(K)$$

$$\stackrel{(K)}{\underbrace{E} = t^{b}}$$



$$\sum_{s_{1}, s_{2}, s_{2}, s_{2}, s_{3}, s_{4}, s_{5}, s_{5}, s_{5}, s_{4}, s_{4}, s_{5}, s_{5$$

Second mearest-meighbors interactions + many-body terms



stable (T=0)

>) 七

(

(

j









$$\begin{split} \overline{\xi} &= \overline{\xi}(\overline{\beta}\overline{J}) = \overline{\xi}(\overline{k}) = \overline{\xi}(t) \\ \overline{b} \cdot \overline{\xi}(\overline{t}) &= \overline{\xi}(t) \\ \overline{t} &= \overline{t}(t) \\ \overline{t} &= \overline{t}(t) \\ \overline{t} &= the \ \text{vicinity of the critical polyt:} \\ \overline{\xi}(t) &\cong A(t-t_c)^{-\nu} \qquad \text{and} \qquad \overline{t}(t) \cong t_c + \frac{d\overline{t}}{dt} \Big|_{t_c}^{(t-t_c)} \\ \overline{t_c}(t) &= t_c + \frac{d\overline{t}}{dt} \Big|_{t_c}^{(t-t_c)} \end{split}$$

$$b \cdot A \left(\tilde{t} - t_{c} \right)^{-\nu} = A \left(t - t_{c} \right)^{-\nu}$$

$$b \left(t_{c} + d\tilde{t} \right|_{t_{c}} \left(t - t_{c} \right) - t_{c} \right)^{-\nu} = \left(t - t_{c} \right)^{-\nu}$$

$$b \left(d\tilde{t} \right|_{t_{c}} \right)^{-\nu} \left(t - t_{c} \right)^{-\nu} = \left(t - t_{c} \right)^{-\nu}$$

$$b \left(d\tilde{t} \right|_{t_{c}} \right)^{-\nu} \left(t - t_{c} \right)^{-\nu} = \left(t - t_{c} \right)^{-\nu}$$

$$b \left(d\tilde{t} \right|_{t_{c}} \right)^{-\nu} \left(t - t_{c} \right)^{-\nu} = \left(t - t_{c} \right)^{-\nu}$$

$$b \left(d\tilde{t} \right|_{t_{c}} \right)^{-\nu} \left(t - t_{c} \right)^{-\nu} = \left(t - t_{c} \right)^{-\nu}$$

$$b \left(d\tilde{t} \right|_{t_{c}} \right)^{-\nu} \left(t - t_{c} \right)^{-\nu} = \left(t - t_{c} \right)^{-\nu}$$

$$b \left(d\tilde{t} \right|_{t_{c}} = 0 \implies t_{\nu} = \frac{t_{\mu}}{t_{\nu}} \frac{d\tilde{t}}{dt} \left|_{t_{c}} \right|_{t_{c}}$$





Owe can also compute
$$d\vec{k}/dk|_{k_{c}}$$

 $\vec{t} = \frac{4t^{2}}{(1+t^{2})^{2}}$ $t = th(k)$
 $\vec{k} = atauh(f(t))$ $f(t) = \frac{4t^{1}}{(1+t^{2})^{2}}$
 $d = atauh(th(k)) = 1 = \frac{d}{dt} \frac{dtuk(th(k))}{d(th(k))} (1 - th^{2}(k))$
 $d = atauh(k) = \frac{1}{1-k^{2}}$
 $d\vec{k} = \frac{1}{(1-t^{2})^{2}} \frac{df}{dt} \frac{dt}{dk}$
 $\frac{df}{dk} = \frac{1}{(1+t^{2})^{2}} - \frac{2}{(1+t^{2})^{3}} \frac{4t^{2}}{(1+t^{2})^{3}} = \frac{8t}{(1+t^{2})^{2}} (1 - \frac{2t^{2}}{1+t^{2}}) = \frac{8t}{(1+t^{2})^{2}} \frac{1-t^{2}}{1+t^{2}}$
 $\frac{d\vec{k}}{dk} = \frac{1}{1-k^{2}(t-1)} \frac{df}{dt} \frac{df}{dk}$
 $\frac{df}{dk} = \frac{1}{(1+t^{2})^{2}} - \frac{2}{(1+t^{2})^{3}} = \frac{8t}{(1+t^{2})^{3}} (1 - \frac{2t^{2}}{1+t^{2}}) = \frac{8t}{(1+t^{2})^{2}} \frac{1-t^{2}}{1+t^{2}}$
 $\frac{d\vec{k}}{dk} |_{k_{c}} = \frac{1}{1-k^{2}(t_{c})} \frac{df}{dt} |_{t_{c}} (1 - t^{2}_{c}) + f(t_{c}) = t_{c}$
 $\frac{d\vec{k}}{dk} |_{k_{c}} = \frac{df}{dt} |_{t_{c}} = \frac{d\vec{t}}{dt} |_{t_{c}} = \frac{4t}{dt} |_{t_{c}} = \frac{4t^{2}}{(1+t^{2})^{2}} \frac{2(1-t^{2})}{t(1+t^{2})} |_{t_{c}} = \frac{2(1-t^{2})}{1+t^{2}}$

$$\frac{d\hat{t}}{dt}\Big|_{t_c} \simeq 1,82 \cdot 0,91 \simeq 1,656$$







vexact = 1

Other stategy: Bond counting

$$N = \# \text{ of spins} = (L/\alpha)^2$$

 $B = \# \text{ of bonds}$
 $B = 2N$
 $\tilde{N} = \# \text{ of or spins} = (L/b\alpha)^2 = N/b^2$
 $B = 2\tilde{N} \cdot m \cdot b = 2N \text{ mb} = 2N \implies (m = b)$

$$S_{0} = S_{1} = S_{2}$$

$$S_{0} = S_{1} = E^{b(s)} \left(S_{0}S_{1} + ... + S_{b-1}S_{b} \right)$$

$$= 2^{b-1} ch^{b} (bK) (A + th^{b} (bK)S_{0}S_{b})$$

$$E = th^{b} (bK)$$

$$S_{0} = A + E$$

$$K = otouh (th^{b} (bK))$$

$$th (K + 6K) \simeq th(K) + \frac{6K}{Ch^{2}(K)}$$

$$(th (k+6K))^{b} = e^{(A+6)} lu [th(K) (A + \frac{6K}{sh(K)ch(K)})]$$

$$\simeq e^{(A+6)[lu th(K) + \frac{6K}{sh(K)ch(K)}]}$$

$$\simeq e^{lu th(K)} + E (lu th(K) + \frac{K}{sh(K)ch(K)})$$

$$(th (k+Gk))^{4+G} \simeq th (k) \left(\Lambda + G \left(lu th (k) + \frac{k}{sh(k)} ch(k) \right) \right)$$

$$= th (k) + G \left(th (k) lu th (k) + \frac{k}{ch^{2}(k)} \right)$$

$$atsuch (th (k) + S) \simeq athomh (th (k)) + \frac{\Lambda}{\Lambda - th^{2}(k)} \cdot S$$

$$= K + ch^{2}(k) \cdot S$$

$$atsuch (th^{b}(bk)) \simeq K + G \left(sh(k) ch(k) lu th (k) + k \right)$$

$$\frac{k}{h} = k + E \left(k + sh(k) ch(k) lu th (k) \right)$$

$$6. k_{c}^{exact} = lu \left(\Lambda + \sqrt{2} \right)$$

$$k_{c} + sh(k_{c}) ch(k_{c}) lu th (k_{c}) = 0$$

$$\frac{sh(2k_{c})}{2} e^{k_{c}} = \sqrt{\Lambda + \sqrt{2}}$$

$$e^{-k_{c}} = \frac{\Lambda}{\sqrt{\Lambda + \sqrt{2}}} = \sqrt{\Lambda + \sqrt{2}}$$

$$\begin{split} & \mathrm{Sh}(\mathrm{Kc}) = \underbrace{1}_{2}\sqrt{1+\sqrt{2}} \left(1 - \frac{1}{1+\sqrt{2}} \right) = \underbrace{1}_{2}\sqrt{1+\sqrt{2}} \quad \frac{\sqrt{2}}{1+\sqrt{2}} = \frac{\sqrt{2}/2}{\sqrt{1+\sqrt{2}}} \\ & \mathrm{Ch}(\mathrm{Kc}) = \underbrace{1}_{2}\sqrt{1+\sqrt{2}} \left(1 + \frac{1}{1+\sqrt{2}} \right) = \underbrace{4}_{2}\sqrt{1+\sqrt{2}} \quad \frac{2\sqrt{2}}{1+\sqrt{2}} = \underbrace{2+\sqrt{2}}_{1+\sqrt{2}} \\ & = \underbrace{\sqrt{2}(1+\sqrt{2})}_{2\sqrt{1+\sqrt{2}}} = \underbrace{\sqrt{4+\sqrt{2}}}_{\sqrt{2}} \\ \end{split}$$

$$\begin{aligned} th(k_{c}) &= \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{4+\sqrt{2}}} = \frac{1}{4+\sqrt{2}} \\ th(k_{c}) &= \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{4+\sqrt{2}}} = 0 \quad 7 \\ th(k_{c}) &= \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{4+\sqrt{2}}} = 0 \quad 7 \\ \frac{1}{\sqrt{2}} &= \frac{1}{\sqrt{4}\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = 0 \quad 7 \\ \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = 0 \quad 7 \\ \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{2}\sqrt{4+\sqrt{2}}} \cdot \frac{1}{\sqrt{2}} \cdot$$

$$\frac{d\bar{k}}{d\bar{k}}\Big|_{k_{c}} = 4 + 6\left[2 + \left(\frac{4+\sqrt{2}}{2} + \frac{4}{2}\left(\frac{4+\sqrt{2}}{2}\right)\right)\ln\frac{4}{4+\sqrt{2}}\right]$$

$$\frac{d\bar{k}}{d\bar{k}}\Big|_{k_{c}} = 4 + 6\left[2 + \frac{4}{2}\frac{4+2+2\sqrt{2}+4}{4+\sqrt{2}}\ln\frac{4}{4+\sqrt{2}}\right]$$

$$\frac{2+\sqrt{2}}{4+\sqrt{2}} = \sqrt{2}\left(\frac{4+\sqrt{2}}{4+\sqrt{2}}\right)$$

$$\frac{d\bar{k}}{d\bar{k}}\Big|_{k_{c}} = 4 + 6\left[2 + \sqrt{2}\ln\frac{4}{4+\sqrt{2}}\right]$$

$$\frac{d\bar{k}}{d\bar{k}}\Big|_{k_{c}} = 4 + 6\left[2 + \sqrt{2}\ln\frac{4}{4+\sqrt{2}}\right]$$

$$\frac{d\bar{k}}{4+\sqrt{2}} = \frac{\ln\left(4+6\left(2+\sqrt{2}\ln\frac{4}{4+\sqrt{2}}\right)\right)}{\ln\left(4+6\right)} = 2 + \sqrt{2}\ln\frac{4}{4+\sqrt{2}}$$

$$= 2 - \sqrt{2}\ln\left(4+\sqrt{2}\right)$$

$$v = \frac{1}{2 - \sqrt{2} lu(1 + \sqrt{2})} \sim 1,327 \dots$$

 $\gamma^{\text{exect}} = 1$ $\gamma^{\text{NF}} = 1/2$ $\gamma^{\text{NK}} \simeq 1/3...$

(C) Severeligetion to erbitrory d



2 fter the bouch moving step À sites « kept 2 fter the decimetion

1.
$$b^{d}\tilde{N} = N \implies \tilde{N} = N/b^{d}$$

2.
$$B = N \cdot d \cdot mb$$

3. $B = B$
 $N d mb = Nd$
 $M d mb = Nd$
 $M = b^{d-1}$
 $J = b^{d-1}$
 $S_{0} = S_{1} - S_{b-1} = S_{b}$
4. $\sum_{\substack{j \leq q = \pm d \\ j \leq q}} e^{b^{1}K(S_{0}S_{1} + \ldots + S_{b-1}S_{b})} = 2^{b-1} ch^{b}(b^{d-1}K)(1 + S_{0}S_{b} + bh^{b}(b^{d-1}K))$

$$\tilde{t} = th^{b}(b^{d-1}K)$$



5. K > to (T > 0) Expand ground to > to $th(x) = \frac{1 - e^{-2x}}{1 + e^{-2x}} \xrightarrow{x \to +p} 1 - 2e^{-2x}$ $th(b^{d-1}K) = 1 - 2e^{-2b^{d-1}K}$ $(th(b^{d-1}k))^{b} \simeq 1 - 2be^{-2b^{d-1}k}$ $\chi - 2e^{-2\kappa} \simeq \chi - 2be^{-2bd-1}\kappa$ e-2k ~ b e-26d-1K $-2\tilde{k} \sim lub - 2b^{d-1}K \implies \tilde{k} \simeq b^{d-1}K - lub$ $\begin{array}{rcl} & & & \\ T & \simeq & 1 & = & T \\ & & & & \\ \hline b^{d-1} & - & & b^{d-1} & - & T \\ & & & & \\ T & 2 & & & 2 \end{array}$

$$\begin{split} \widetilde{T} &= \frac{T}{b^{d-1}} \quad \frac{1}{l - T \ln b} \simeq \frac{T}{b^{d-1}} \begin{pmatrix} 1 + T \ln b \\ 2b^{d-1} \end{pmatrix} \\ \frac{d\widetilde{T}}{dT} &= \frac{1}{b^{d-1}} \qquad d > 1 \longrightarrow \text{stable } F.F. \\ d = 1 \longrightarrow \text{marginal} \\ (\text{lower critical divension}) \end{split}$$



each edge is replaced by 2c edges with c vertices in between: # of vertices $2 \rightarrow 2+c \rightarrow 2+c + 2c \cdot c \rightarrow 2+c+2c^{2}+4c^{3}$ # of vertices after in steps $= 2 + \frac{1}{2} \left(2c + 4c^{2} + 8c^{3} + ... \right)$ $= 2 + \frac{1}{2} \left(\sum_{k=1}^{m-1} (2c)^{k} \right) = 2 + \frac{1}{2} \left(\frac{1 - (2c)^{m}}{1 - 2c} - 1 \right)$ $= 2 + \frac{1}{2} \left(\frac{1 - (2c)^{m} - 1 + 2c}{1 - 2c} \right) = 2 + \frac{1}{2} \left(\frac{2c}{2c} - \frac{1}{2} \right)$

2.

$$\sum_{\substack{s_{a} \\ b \\ s_{c} \\$$







$$T \rightarrow 0$$

$$(K \rightarrow +\pi)$$

$$th (K) \approx 1 - 2e^{-2K}$$

$$t^{2} \approx 1 - 4e^{-2K}$$

$$1 - 2e^{-2K'} = 1 - 2e^{-2c} \operatorname{stauh}(t')$$

$$-2K' = -2c \operatorname{stauh}(t^{2})$$

$$K' = c \operatorname{stauh}(1 - 4e^{-2K})$$

$$\operatorname{stauh}(1 - 2e^{-2K}) = K$$

$$\int_{0}^{\infty} S = 2e^{-2K}$$

$$\int_{0}^{\infty} S = 4u2 - 2k$$

$$\int_{0}^{\infty} S = 4u2 - 2k$$

$$\int_{0}^{\infty} S = 4u2 - 4uS$$

$$K = \frac{4u2 - 4uS}{2}$$

$$K = \frac{4u2 - 4uS}{2}$$

$$K' = c \frac{4u2}{2} + cK$$

$$\frac{T'}{J} = \frac{1}{\frac{cJ}{c}} (1 - \frac{T4u2}{2J}) \approx \frac{T}{cJ} (1 + \frac{T4u2}{2J})$$

$$\frac{dT'}{dT} = \frac{1}{c} \Rightarrow \text{ stable fixed point for } c > 1$$



Alternative formulation of the recursion RG relation:

$$th(k') = th(c \operatorname{arctauh}(th^{2}(k)))$$

$$th(k') = \frac{\ell^{2x} - 1}{\ell^{2x} + 1} \implies \ell^{2x} t + t = \ell^{2x} - 1$$

$$\ell^{2x}(t-1) = 1 + t$$

$$\ell^{2x} = \frac{1+t}{1-t} \implies x = \frac{1}{2} \ln \frac{1+t}{1-t}$$

 $2tanh(t) = x = \frac{1}{2} \ln \frac{1+t}{1-t}$

$$t' = th \left(C \frac{1}{2} lu \frac{1+t^{2}}{1-t^{2}} \right) = th \left(lu \left(\frac{1+t^{2}}{1-t^{2}} \right)^{C/2} \right)$$
$$= \frac{e^{2 lu \left(\frac{1+t^{2}}{1-t^{2}} \right)^{C/2}}}{e^{2 lu \left(\frac{1+t^{2}}{1-t^{2}} \right)^{C/2}} + 1} = \frac{\left(\frac{1+t^{2}}{1-t^{2}} \right)^{C} - 1}{\left(\frac{1+t^{2}}{1-t^{2}} \right)^{C} + 1} = \frac{\left(1+t^{2} \right)^{C} - \left(1-t^{2} \right)^{C}}{\left(1+t^{2} \right)^{C} + \left(1-t^{2} \right)^{C}} \right)}$$

$$t \to 0 \qquad t' \simeq \frac{1 + ct^2 - 1 + ct^2}{1 + ct^2 + 1 - ct^2} = ct^2$$

$$\frac{dt'}{dt} \bigg|_{0} = 0$$

$$t \to 1 \qquad t = 1 - \epsilon$$

$$t' = \frac{\left(1 + (1 - \epsilon)^{2}\right)^{c} - (1 - (1 - \epsilon)^{2})^{c}}{\left(1 + (1 - \epsilon)^{2}\right)^{c} + (1 - (1 - \epsilon)^{2})^{c}} \approx \frac{2^{c}(1 - c\epsilon) - \epsilon}{2^{c}(1 - c\epsilon)^{2}}$$

$$(1 - \epsilon)^{2} \approx 1 - 2\epsilon$$

$$1 + (1 - \epsilon)^{2} = 2(1 - \epsilon)$$

$$(1 + (1 - \epsilon)^{2})^{2} = 2^{2}(1 - \epsilon)$$

$$1 - (1 - \epsilon)^{2} = 2\epsilon$$

$$(1 - (1 - \epsilon)^{2})^{2} = (2\epsilon)^{2}$$

$$\simeq \frac{2^{c}(\Lambda - c\epsilon) - 2^{c}\epsilon^{c}}{2^{c}(\Lambda - c\epsilon) + 2^{c}\epsilon^{c}}$$

$$= \frac{\Lambda - c\epsilon - \epsilon^{c}}{\Lambda - c\epsilon + \epsilon^{c}}$$

$$\simeq (\Lambda - c\epsilon - \epsilon^{c})(\Lambda + c\epsilon - \epsilon^{c} + c^{2}\epsilon^{2} + ...)$$

$$= \Lambda + c\epsilon - \epsilon^{c} - c\epsilon - c\epsilon^{2}\epsilon^{2} + c\epsilon^{c+1} - \epsilon^{c} + c^{2}\epsilon^{2} + ...)$$

$$\simeq \Lambda - 2\epsilon^{c} + ...$$

$$t' \simeq 1 - 2(1 - t)^{c}$$

$$\frac{dt'}{dt} = 2c(1 - t)^{c-1} \qquad dt' \Big|_{t \to 1} = 0$$

$$\overline{dt} = 0$$

$$C = 2$$

$$t' = \frac{(1+t')^{2} - (1-t')^{2}}{(1+t')^{2} + (1+t')^{2}} = \frac{2t^{2}}{1+t'}$$
Fixed point: $t = 0$, $t = 1$, $t = t_{*} \simeq 0$, $5 + 37 \dots$

$$\frac{dt'}{dt} = \frac{4t}{1+t'} - \frac{2t^{2}}{(1+t'')^{2}} \cdot \frac{4t^{3}}{t} = \frac{4t}{1+t'} \left(1 - \frac{2t'}{1+t'}\right)$$

$$\frac{2t_{*}}{1+t_{*}} = \frac{1}{t} \implies \frac{dt'}{dt} \Big|_{t_{*}} = 2\left(1 - \frac{2t_{*}}{2t_{*}}\right) = 2\left(1 - t_{*}^{3}\right)$$

$$v = \frac{4ub}{4u\left[2\left(1 - t_{*}^{3}\right)\right]} = 1$$